Copying of this document and giving it to others ond the use or communication of the contents thereof, are forbidden without express

authority. Contravention of this resfriction will constitute on evident abuse ond result in a liability to the payment of domages. &l rights
are reserved in the event of the grant of palent or registration of o ufility model or design. This document is the subject of copyright.

Non e permesso consegnare o terzi ¢ riprodurre questo documento, ne ubilizzarme il conteruto o renderlo comunque rote o terzi
senzo auforizzozions esplicita. Cgni infraziong costituira un evidents ohuse @ comportera il risar ciménto dei darni subiti.

E'fotte riserva o futti i dirifti derivanti do brevetti o modelli.

C 4 129.6

- 213 - - 135.4 . B8 N
O0.1A-B ————
_ 100 | 58 _ 9
..
O\I7£0.25 A BN ) N "S- £
¢ N
B S S _ |1 1 \
| -
I 2 —
2 2 5}
N R | /O %
— et ‘
[ \ \ — - - = - -
] a
\
8X@—\ — M8 4% 2% /?5 - “ % i
\ \ A/ * I ‘ fan \\ -
Pl . . s [
L1 : o (]/° /71 -~ —
P i O G k> | |
‘ o ® ~/ Jo ‘ 1 S -
| | | ‘ ‘I ] -
[ _//_ axle flange - I |
‘ =] Achsflansch | I l_— .
I bride essieu o o I :
| 52 flange fissaggio freno Y | © ‘ 1 a _
. | © i N = = )
Qo 4 ~~—— - Sk
| & i~ | : ~
- =S | —= — 1 |
2 R \ — = - A
: =
o = L
‘ ‘ & | (")-\O ] Q
1 = 1= 145 -®
=l oo | |
= “ gl g D
| @ /7 10.08
(I Ho o g
B | {/ =S -
S
4 |
‘ et - 15"5
| - 146.1 _|
| _ _ !
<= 21
—~ -— 10
22.85 ia
I = 9
.4
ATt 4
- 59.15 . 1a
- 114 o
- 122.2 |
fightening torque width over flafs note
Anziehdrehmoment SW Bemerkung
couple de serrage surplats remarque
15) 2x coppia di serraggio misura chiave annotazione
brake mounting . fixation du frein fissaggio freno
hexagon screw, oiled Seoﬁéﬁ?niigﬁféﬁéggmgoe|r vis a fefe hexagonale, huilee | vite o testa esagonale, oliate
M4 x 1.5 x ... - 10.9 V4 x 1.5 x " 9109 M4 x 1.5 x ... - 10.9 M4 x 1.5 x ... - 10.9
Albion No. NJJ 4163 Albion Nr. NoJ 4163 Albion no. NJJ 4163 Albion no. NdJ 4163
@ 205 - 225 Nm 18 min. thread engagement i Enectroubfisfe ~ 18 mm lonqueur de vissage lunghezza minima
length = 18 mm omox uebertragbares min. 18 mm avvitamento = 18 mm
max. fransferable Brernsmoment. = 1%000 N couple de freinage maxi max. momento frenatura
broke torgque = 10000 Nm Anziehreihenfole 1-6 fransferable = 10000 Nm frasmissible = 10000 Nm
fightening order 1-6 Y ordre de serrage 1-6 sequenza di serraggio 1-6
fightening order Anziehreihenfolge ordre de serrage sequenza di serraggio
340 £+ 20 Nm 14 1. long bolt  om se-mex.seo-1.9 1. Bolzen lang om sr-wex.5e0-12.9 1. axe long o 9i-mied.5a@0-12.3 1. viti lunghem ere-wex.se0-12.9
Y g Y Y
2. short bolt om sewea.so-zs 2. Bolzen Kurz om se-measao-rz.9 2. Qaxe Courton si-medsdo-12.9 2. viti corte sr-wed.sxo-.9
@ 68 L 5 Nm £ 0 cover fixing Deckelbefestigung fixation couvercle fissaggio coperchio
///], DIN 34800 - MIOx1x40 - 12.9|DIN 34800 - MIOx1x40 - 12.9|DIN 34800 - MIOx1x40 - 12.9[DIN 34800 - MIOx1x40 - 12.9
&
<4> 2 £ 9 Nm 13 wear indicator fastening Verschleissanzeigebefestigung | fixation de |'indicateur d'usure fissaggio indicatore d'usura
1SO 4017-M8x14 zink-plated 150 4017-M8x14 verzinkt 150 4017-M8x14 zingue IS0 4017-M8x14 zincato
| b |
@ 210 +0 NI 24 operation cylinder Betaetigungszylinder actionneur cilindro operatore
-30 M16x1.5 M16x1.5 M1ex1.5 M16x1.5
@ o product identification WABCO _ |
| &) Kemzecmung WAECO ADCO | o ey o e Do hexagon widih over flafs 8
— e identification WABCO I 3) WABCO ident number  WABCO-Ident-Nr.  reference WABCO  numern idenlificotivo WABCO Sechskant SW 8
o = identificazione prodotto WABCO ——3) tete hexagonale (surplats 8)
o) . esagono SW 8
max. rofary outling
@ maximale Rotationskonfur maximum  disc clearance
(2x) profil enveloppe maximal Scheibenfreigang
Y ' rotazione profilo massimo course libre du disque
no_mirrorImage , max. dimensione installozione disco
kein Spiegelbild v max. displacement |
pas d'image inversee maximale Verschigbung for storage and shipment
senza immagine riflessa deplacement maximal @ fuer Transport und Laogerung
1 Max. movimento pour fransport et stockage
e . . per stoccaggio € trasporto
fitting dimension of the disc
<9> Scheibeneinboumass forward drive-rotation direction
dimension de montage du disque Vorwaerts Drehrichfung
quota fissaggio disco sens de rotfation marche avant
. rotazione in avanti
brake disc new 34-0.2, max. weardble up fo 28
Bremsscheibe neu 34-0.2, verschleissbar bis 28 center line cylinder
disque neuf 34-0.2, a user jusqu a 28 @ Mitte Zylinder
disco freno nuovo 34-0.2, usurabile fino 28 géﬁtrrgegiﬁgdr%chonneur Produkt-Spezifikation 640 175 001 O
assembly dimension for broke pads product-specification 640 175 001 O
@ Einbaumass fuer Bremsbelaege uncoated surface ————
dimension de monfage des garnitures unbeschichtete QOberfloeche 40 175 Q73 Spiegelhilg
dimensione assemblaggio pastiglie freno surface non revefue (640 175 073 Q) _image inversee
| | | areq senza frattamento superficiale Fog
envelope circle caliper with cover 40 15 072 wie gezeichnet
friction surface @ Huellkurve Bremssattel mit Deckel (640 175 072 0) comme _dessine
Reibflaeche Ro=1-3 pm enveloppante efrier avec couvercle dimensions without tolerances are gauge dimensions come disegnato
surface de friction  |Rz <= 20 um incombro pinza con coperchio nicht tolerierte Masse = Lehrenmasse ident-no_brake customer no, brake type
area attrito dimensions non tolerancees = calibres Mot _1¥ Dremse fLckAmer Ausiuefitung Bremse
. . . le dimensioni senza tolleranza sono quelle rifertite al calibro cadice materidle freno no. cliente versione freno
Dicentaranz  |radal mox. 0,06 igenidl mox. 0.02 | yABCO
tolerance d'epaisseur |radial max. 0.06 - tongentiel max. 0.02 | T o — Ty .
tolleranza spessore  |radicle max. 0.06 - fangentiale max. 0.02 coating ———— 2000209 | Foeg | DioC Droke PAN-range light
anti-corrosion profection - salt ‘spray test min. 96 hours e Cecked Scheibenbremse PAN-Reihe leicht
brake disc Beschichtung PAN 17 o 2010-02:05 | _FRedomom _|Frein o disque PAN-fype gamme basse
Bremsscheibe Korrosionssohufz—Solestpruer(ljnebelpfruef. min. 96 Std. cass 1 e 50 e 80 |s acols ac0| < Redernom Pinza freno a disco fipo PAN leggero
: . pro ecrion ge sur qce fine 0.5 1.0 15 50 s Scole Material No. D(;Tce 0; ;irst is;ueuzu . 2006-(;:-11
disque de frein tenue BS 96 h min. Veciirm 0 |20 [30 [ a0 | == [ S s 40 175 072 Doo.Cote | Longioge e
disco freno rivestimento coaee | [ 2.0 [ 35 [ 50 [ &= L 053 | ML | 1/1
protezione confro lo corrosione - prova di resistenza alla nebbia soling dopo dmeno 96 h Tapped Holes aco. ECHo. Revisor | Techn. e, Replacerment for
1) Tolerance Closs Applied Crossmarked A O Pro/E G@ 1.50048. J 6921

qutorisation expresse. Tout mongquement o cette regle constitue un ohus evident &F expose son oufewr ou wersement de dommagas af

inferefs. Tous draits de propriete industrielle reserves, notamment en matiere de brevets et de modsles.
nicht ausdruecklich zugestonden. Zuwiderhandlungen stellen einen offensichtlichen Missbrauch dor und werpflichfen zu Schodenersatz.

Toute Communication ou reproduction de ce document, foute exploitation ou communication de son contenu sont interdites, souf
Alle Rechte fuer den Fall der Potenterteilung oder Gebrouchsmuster-Eintragung vorbehalten.

Weerqube sowie Vervielfaeltigung dieser Unterloge, Verwertung und Miteilung ihres Inhalts nicht gestaltel, soweit

1 2 3 4 5 6 7 8 9 10 11 | 12 13 14 | = =




